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Time, Speed and Distance

13. A car travels 1/3 of the distance on a 13. U® ®R AUl WSS W g &1 1/3 ¥ 10
straight road with a speed of 10 kmy/h ,  f&fl/der &t nfa |, srrem_1/3 W 60
the next 1/3 with a speed of 60 km/hand  f¥dfl/der 3t nfa & o aifew 1/3 wmT 20
last 1/3 with a speed of 20km/h. What is  f@il/icT Sl Ty A qa st 1 g amn &

the average speed of the car for the @RI R B 3itwa 7fy 37@
whole ?
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between two cities by a car covering the
first quarter of the journey at a constant
speed of 40 km/h and the remaining
three quarters at a constant speed of x
km/h. If the average speed of the person
for the entire journey was 53.33 km/h
what is the value of x ?
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14. A person travelled a distance of 200 km 14. U Afdd A U $R GRT & U8 & 49

200 f&it @t & au #, arn F ggH

a. 30 km/h Mbk"‘[\L\‘ 2 M|,
b. 50 km/h
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d. None of these
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15. A journey of 192 km takes 2 hours less 15, 192 f&ift &t g &, 3w 29 & @it 2= 9t

by a fast train than by a slow train. If the gerT &, 2 4 oW w9y avran g1 afg dif
average speed of the slow train is 16 ﬁﬁmﬂfaa???!ﬁmﬂﬁﬁw
km/hr less than that of the fast train, Rl on d, A aw A P olwanfa
what is the average speed of the faster 2
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16. A car travels from a place X to place Y at
an average speed of v km/h, from Y to X
at an average speed of 2v km/h, again
from X to Y at an average speed of 3v
km/h and again from Y to X at an average
speed of 4v km/h. Then the average
speed of the car for the entire journey
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a. is less than v km/h
\/b%uesbetweenvmdhkm/h
c. lies between 2v and 3v km/h
d. lies between 3v and 4v km/h
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17. A car travels from A to B at V1 km/hr, 17. U® ®R A 9 B 7@ v1 f&#i/ber 9t nfa |
travels back from B to A at V2 km/hr and ar Y 8, B | A 7@ v2 Rl der #
again goes back from A to B at V2 km/hr. e & T St @ R Y A A B TF v2
The average speed of the car is il der 3t ofy | aow ot 81 IR #
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c. 3VIV2 /V1 + 2V2 c. 3VIV2 /V1 + 2V2 ,\é
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18. Without stoppage, a train travels at an 18. =T Wiiw, us ¢ 75 5wl der #t siva
average speed of 75 km/h and with nﬁaawtmeﬁatmso
stoppages it covers the same distance at fdftder #t stwa nfa | wum gt ag

an average speed of 60 km/h. How many mtlzﬁﬂﬁﬁﬂémmm

minutes per hour does the train stop ? t?
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20. A tree is passed by a train in 15 seconds. 20. U® YIS 15 ¥%T A & I3 A el 81
Find the length of the train if its speed is afe 39 9 7fa 36 fi/der & &t Swa

36km/h. }'mfmmm
a.100m a. 100 HieX
b.120 m > b. 120 #iex
c. 150 m gT’gérJ”L‘ c. 150 Hex
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24. A train 200 m long is moving at the rate 24. 200 Hiex &dl & Y3l 40 &t der @
of 40 km/h. In how many seconds will it  7Ifd & ¥& T8 81 U8 Yord @139 & U9 @2
cross a man standing near the railway line ? s Afed o1 fFa ¥ # ur &3 a2
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